URBAN PATTERNS #GE18

Solution: 14 letters, 2 words (City of the fuiure?)

Clues
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Cc o M M E R C I A L L R U
One cause of urbanization is that fewer people are needed in _ (1
Tokyo, Shanghai, and Calcutta are all located on this continent (4)
Places where goods change their method of transportation are called _ centers (5,2,4)

In a city, it is also known as the "downtown core" (abbreviation) (3)
These zones of a city may be centers or ribbons (10)
A serious problem in many large cities (5)

A slum area of acity (6)

Term that generally describes a community of less than 100 people (6)
The area around a city which the city serves and influences (10)

This was often a city's original reason for existence (8)
Problem caused by automobile exhaust, factory smoke, untreated sewage etc. (9)

The largest single land use in a city (11)
The opposite of "urban" (5)

The exact location of a place and the physical characteristics of that location (4)

The general location of a place, particularly in relation to factors such as transportation,
resources, energy etc. (9)

A problem in many cities, a combination of smoke and fog (4)

Term that describes commercial development in a city that occurs along a single road
or street (5)

Area on the outskirts of a city, usually a residential district (6)

Term that generally describes a community of between 1,000 and 10,000 people (4)
Serious problem in cities whose populations have outgrown the original site (7)

Term that describes the rapid growth of cities as people move from the rural areas (12)
Term that generally describes a community of between 100 and 1,000 people (7)
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